
PARTS LAYOUT

Page 1 of 5 
FEB 10, 2016 - Rev. ACOPYRIGHT - 2016 - FENDER MUSICAL INSTRUMENTS CORPORATION

FLEA ROADWORN JAZZ BASS® (014-1020-XXX)

4 35

6 7

 2

 1

810 18 20
24 25

13

2928

26

2928

1112

89 15 16
19 20

17 18
21 22

14

27
7

23



PARTS LIST

Page 2 of 5 
COPYRIGHT - 2016 - FENDER MUSICAL INSTRUMENTS CORPORATION

FLEA ROADWORN JAZZ BASS® (014-1020-XXX)

FEB 10, 2016 - Rev. A

REF # DESCRIPTION PART NUMBER
1 BODY 60'S JBASS RELIC FADED SHP 7709860590
2 NECK FLEA 62 J BASS RW MEX RELIC 7709859000
3 KEY  VINTAGE BASS  HC KR RDWN 0078834400
4 BUSHING STRING POST VINT BASS RDW 0019509400
5 SCRW SMAB 3x3/8 RHP NI RDWLGH 0011357049
6 STRING GUIDE DISC BASS 99- 4913 RDWN 0013235400
7 SCRW SMAB 4x1/2 OHP NI  RDWN 0015578800
8 SCREW 4X1- 1/4 WOOD RD PH NI 0027035049
9 PICKUP ASSY 64 J- BASS NECK RDWN 0095625400
10 PICKUP ASSY 64 J- BASS BRIDGE RDWN 0095624400
11 BRIDGE ASSY P/J BASS NOS CHR RDW 0019657400
12 SCREW SMAB 5X1 OHP NI RDWN 0015610800
13 PICKGUARD 62 J BASS BROWN SHELL ROADWORN 0019468400
14 PLATE CONTROL 62 J BASS 99- 2055 RDWN 0019478400
15 KNOB UPPER 62 JAZZ BASS RDWN 0019502400
16 SCREW ST 8- 32x3/16 0994922000
17 KNOB LOWER 62 JAZZ BASS RDWN 0019503400
18 NUT HEX 3/8- 32x3/32 TK NI RDWN 0016352400
19 PLATE DETENT CONTROL 62 J BASS 0019504000
20 WASHER LOCK INTL 3/8 X .687 0016436049
21 CONTROL CONCENTRIC VINT 0019268049
22 CAP CD .03uF 100V 20% 0015545049
23 CAP CD .05uF 100V 20% 0015552049
24 JACK PHONE OPEN CIRCT 11 0021956049
25 WSHR FLAT 3/8x.614 NI RDWN 0031153049
26 PLATE NECK FLEA CUSTOM RDWN 7709831400
27 SCREW SMA 8X 1- 3/4 OHP NKL RDWN 0015636800
28 BUTTON STRAP RDWN 0012344400
29 SCREW WOOD 6X1 OHP NCKL RDWN 0016188800



WIRING DIAGRAM 

Page 3 of 5 
COPYRIGHT - 2016 - FENDER MUSICAL INSTRUMENTS CORPORATION

FLEA ROADWORN JAZZ BASS® (014-1020-XXX)

FEB 10, 2016 - Rev. A

.05µF .03µF

OUTPUT 
JACK

BLACK WIRE  FROM
BRIDGE PICKUP

BLACK WIRE  FROM
NECK PICKUP

NECK
TONE & VOLUME

BRIDGE
TONE & VOLUME

BLACK WIRE  TO
BRIDGE

WHITE WIRE  FROM
BRIDGE PICKUP

WHITE WIRE  FROM
NECK PICKUP

CAPACITOR
.05µF

 

CAPACITOR
.03µF

 



FLEA ROADWORN JAZZ BASS® (014-1020-XXX)

SWITCH AND CONTROL FUNCTION 

Page 4 of 5
COPYRIGHT - 2016 - FENDER MUSICAL INSTRUMENTS CORPORATION FEB 10, 2016 - Rev. A

BRIDGE
PICKUP

NECK
PICKUP

TONE 
NECK PICKUP

VOLUME 
NECK PICKUP

TONE 
BRIDGE PICKUP

VOLUME 
BRIDGE PICKUP



FLEA ROADWORN JAZZ BASS® (014-1020-XXX)

ADDITIONAL SPECIFICATION DETAIL 

Page 5 of 5 
COPYRIGHT - 2016 - FENDER MUSICAL INSTRUMENTS CORPORATION FEB 10, 2016 - Rev. A

6.7 - 7.3KΩ

6.7 - 7.3KΩ

.084’’

2-1/2’’

.039’’

Ø .730”

TUNING MACHINE THRU-HOLE
INNER DIAMETER .730”

ALNICO 5
UNBEVELED

ALNICO 5
UNBEVELED

NECK NORTH

SOUTHBRIDGE

10-32 THREAD

Ø.375”

FRET SIZE: VINTAGE BASS NECK PROFILE:

TRUSS ROD NUT P/N 0012252000

SADDLE HEIGHT ADJUSTMENT SCREW 
P/N 0016105800

SLOTTED HEADLESS 
SCREWS

LOGO: DECAL MEX 60 J BASS
APPLIED UNDER THE FINISH

BUSHING STRING POST 
VINT BASS RDW P/N 0019509400

KEY  VINTAGE BASS  
HC KR RDWN P/N 0078834400

Ø.552 Ø.739 

.762”

.975”

PLEASE NOTE: AS EACH NECK
IS SANDED & FINISHED BY 

HAND, THICKNESS DIMENSIONS
MAY VARY SLIGHTLY FROM

THOSE SHOWN.


